http://www.carson.org/index.aspx?page=998

Notice to Contractors Bid# 1415-124 Carson City Landfill Entrance Repair

Description			Bidder # 1		Bidder # 2		Bidder #3	
			ARMAC Construction		A & K Earth Movers,			
BONDING Provided, \$, %, or no PREFERENTIAL Bidder Status and Affadavit attached			Justin Wilson	Construction	LLC		Inc.	
			5%		5	5%	5	%
			N/A		N/A		N/A	
BIDDER acknowledges receipt addendums			1			1		1
Description	Sched	Unit	Unit price	Total price	Unit price	Total price	Unit price	Total price
· · - · · · · · ·	Value							
Base Bid Items - Schedule A								
Mobilization, Demobilization and Clean-Up	1	LS	\$5,000.00	\$5,000.00	\$10,800.00	\$10,800.00	\$10,066.00	\$10,066.00
2 Traffic Control	1	LS	\$1,500.00	\$1,500.00	\$2,400.00	\$2,400.00	\$3,825.55	\$3,825.55
Remove Existing PCC Conc	1763	SF	\$5.00	\$8,815.00	\$6.80	\$11,988.40	\$6.00	\$10,578.00
4 Remove Existing AC Pavement	5184	SF	\$1.50	\$7,776.00	\$0.90	\$4,665.60	\$1.65	\$8,553.60
Cap and Slurry Fill Existing 6" Pipe	105	LF	\$20.00	\$2,100.00	\$7.70	\$808.50	\$6.00	\$630.00
Scarify Existing Subgrade (12" Depth)	4754	SF	\$1.65	\$7,844.10	\$0.35	\$1,663.90	\$0.70	\$3,327.80
PCC Flatwork (4" Conc., 4" Ag Base)	82	SF	\$23.18	\$1,900.76	\$28.20	\$2,312.40	\$10.50	\$861.00
PCC Flatwork (6" Conc., 9" Ag Base)	3336	SF	\$9.00	\$30,024.00	\$9.30	\$31,024.80	\$11.00	\$36,696.00
9 PCC Type 1 Curb and Gutter	47	LF	\$30.00	\$1,410.00	\$62.00	\$2,914.00	\$70.00	\$3,290.00
PCC Valley Gutter 4" Conc. On 4" Agg. Base (Non-Traffic Areas)	1490	SF	\$9.00	\$13,410.00	\$8.15	\$12,143.50	\$6.50	\$9,685.00
PCC Valley Gutter 6" Conc. On 9" Agg. Base								
11 (Traffic Areas)	986	SF	\$13.00	. ,	· ·	\$8,874.00		\$11,832.00
AC Pavement Patch	1167	SF	\$9.50	\$11,086.50	\$13.70	\$15,987.90	\$11.65	\$13,595.55
13 Concrete Light Pole Footing	1	EA	\$1,500.00	\$1,500.00	\$1,300.00	\$1,300.00	\$1,575.00	\$1,575.00
NDOT Type 7 Light Pole with 15' Luminare Arm	1	EA	\$3,500.00	\$3,500.00	\$3,700.00	\$3,700.00	\$4,000.00	\$4,000.00
and i ixture	380	LF	\$5,500.00	\$2,622.00	\$8.900	\$3,700.00	\$1.800	\$684.00
15 Electrical Wire for Street Light 16 Install Pull Box	2	EA	\$364.000	\$728.00	\$580.000	\$3,382.00	\$425.000	\$850.00
iii iiistali Puli Box		L, (φου 1.000	ψ120.00	φοσο.σσσ	ψ1,100.00	ψ120.000	φοσο.σσ
Excavate and Place 1-2" Sch. 80 PVC Conduit	78	LF	\$15.000	\$1,170.00	\$23.000	\$1,794.00	\$12.500	\$975.00
Excavate and Place 2-2" Sch. 80 PVC Conduit	340	LF	\$15.000	\$5,100.00		\$5,950.00	\$14.000	\$4,760.00
19 Rock Lined V-Ditch	2114	SF	\$2.850	\$6,024.900	\$7.000	\$14,798.000	\$5.750	\$12,155.500
20 Rubber Speed Bumps	36	LF	\$35.410	\$1,274.760	\$54.000	\$1,944.000	\$85.000	\$3,060.000
21				\$0.000		\$0.000		\$0.000
22 Total Base Bid Price (Schedule A)				\$125,604.020		\$139,611.000		\$141,000.000
Total Rid Price written in words?						V		<u></u>
Total Bid Price written in words? y/n			Y			Y Y		Y Y
Bidder Information provided? y/n			Y		•		·	
Sub Contractors listed? y/n or none			5%		5%, 1%, OTHER		5%, 1%, OTHER	
Bid Document executed? y/n			Y			Υ		Y
		ENI	D OF DOCUM	MENT				

^{*} Mathematical Error

http://www.carson.org/index.aspx?page=998

Notice to Contractors Bid# 1415-124 Carson City Landfill Entrance Repair

Description			Bidder # 4		Bidder # 5		Bidder #6		
•						RaPiD Construction,		Coons Construction,	
BONDING Provided, \$, %, or no PREFERENTIAL Bidder Status and Affadavit attached BIDDER acknowledges receipt addendums			Impact Co	nstruction		nc.	LLC		
			5%	6	5%		5	%	
			N/A		N/A		N/A		
			1			1		1	
Des	scription	Sched	Unit	Unit price	Total price	Unit price	Total price	Unit price	Total price
		Value							
	Base Bid Items - Schedule A								
1	Mobilization, Demobilization and Clean-Up	1	LS	\$14,500.00	\$14,500.00	\$11,351.90	\$11,351.90	\$16,400.00	\$16,400.00
2	Traffic Control	1	LS	\$1,900.00	\$1,900.00	\$500.00	\$500.00		\$2,800.00
3	Remove Existing PCC Conc	1763	SF	\$3.40	\$5,994.20	\$2.50	\$4,407.50		\$7,492.75
4	Remove Existing AC Pavement	5184	SF	\$1.75	\$9,072.00	\$0.95	\$4,924.80	\$2.00	\$10,368.00
5	Cap and Slurry Fill Existing 6" Pipe	105	LF	\$12.50	\$1,312.50	\$17.00	\$1,785.00	\$5.10	\$535.50
6	Scarify Existing Subgrade (12" Depth)	4754	SF	\$1.30	\$6,180.20	\$0.70	\$3,327.80	\$0.25	\$1,188.50
7	PCC Flatwork (4" Conc., 4" Ag Base)	82	SF	\$22.00	\$1,804.00	\$25.00	\$2,050.00	\$7.45	\$610.90
8	PCC Flatwork (6" Conc., 9" Ag Base)	3336	SF	\$10.50	\$35,028.00	\$10.00	\$33,360.00	\$9.20	\$30,691.20
9	PCC Type 1 Curb and Gutter	47	LF	\$55.00	\$2,585.00	\$75.00	\$3,525.00	\$31.65	\$1,487.55
10	PCC Valley Gutter 4" Conc. On 4" Agg. Base (Non-Traffic Areas)	1490	SF	\$9.00	\$13,410.00	\$11.50	\$17,135.00	\$7.45	\$11,100.50
11	PCC Valley Gutter 6" Conc. On 9" Agg. Base	986	SF	\$11.50	\$11,339.00	\$13.50	\$13,311.00	\$9.30	\$9,169.80
12	(Traffic Areas) AC Pavement Patch	1167	SF	\$12.75	\$14,879.25	\$8.00	\$9,336.00	\$14.00	\$16,338.00
13	Concrete Light Pole Footing	1	EA	\$2,950.00	\$2,950.00	\$1,500.00	\$1,500.00		\$2,000.00
<u> </u>	NDOT Type 7 Light Pole with 15' Luminare Arm	-		ψ2,000.00	ΨΞ,000.00	ψ.,σσσ.σσ	ψ.,σσσ.σσ	ψ=,000.00	ΨΞ,000.00
14	and Fixture	1	EA	\$5,500.00	\$5,500.00	\$8,000.00	\$8,000.00	\$4,500.00	\$4,500.00
15	Electrical Wire for Street Light	380	LF	\$2.100	\$798.00	\$20.000	\$7,600.00	\$9.500	\$3,610.00
16	Install Pull Box	2	EA	\$500.000	\$1,000.00	\$500.000	\$1,000.00	\$710.000	\$1,420.00
17	Excavate and Place 1-2" Sch. 80 PVC Conduit	78	LF	\$20.000	\$1,560.00	\$20.000	\$1,560.00	\$21.800	\$1,700.40
18	Excavate and Place 2-2" Sch. 80 PVC Conduit	340	LF	\$15.000	\$5,100.00	\$21.000	\$7,140.00	\$23.000	\$7,820.00
19	Rock Lined V-Ditch	2114	SF	\$3.250	\$6,870.500	\$5.500	\$11,627.000	\$9.500	\$20,083.000
20	Rubber Speed Bumps	36	LF	\$58.000	\$2,088.000	\$150.000	\$5,400.000	\$113.000	\$4,068.000
21									
22	Total Base Bid Price (Schedule A)				\$143,870.650		\$148,841.000		\$153,384.100
				•					
T-4	al Did Drive control is seemed 2 colo			1		ı	V	<u> </u>	·/
Total Bid Price written in words? y/n			Y		Y		Y		
Bidder Information provided? y/n			·		•		<u>'</u>		
Sub Contractors listed? y/n or none			5%, 1% Y		5%, 1%, OTHER		5%, 1%, OTHER		
Rid	Document executed? y/n						Y		Y
			ENI	D OF DOCUM	<u>IENT</u>				

http://www.carson.org/index.aspx?page=998

Notice to Contractors Bid# 1415-124 Carson City Landfill Entrance Repair

Description		Bidder # 7		Bidder # 8		Bidder #9		
BONDING Provided, \$, %, or no PREFERENTIAL Bidder Status and Affadavit attached BIDDER acknowledges receipt addendums			Cruz Construction		Sierra Nevada			
			Compar	ny, Inc.	Construction, Inc.		MKD Cons	truction, Inc.
			5%		5	5%		%
			N/A		N/A		N/A	
			1			1		1
Description Sched Unit Value		Unit price	Total price	Unit price	Total price	Unit price	Total price	
Base Bid Items - Schedule A	Т							
Mobilization, Demobilization and Clean-Up	1	LS	\$4,300.00	\$4,300.00	\$4,572.00	\$4,572.00	\$16,750.00	\$16,750.00
2 Traffic Control	1	LS	\$1,000.00	\$1,000.00		\$1,000.00	\$3,500.00	\$3,500.00
3 Remove Existing PCC Conc	1763	SF	\$2.00	\$3,526.00	\$3.50	\$6,170.50	\$8.75	\$15,426.25
4 Remove Existing AC Pavement	5184	SF	\$1.00	\$5,184.00	\$3.50	\$18,144.00	\$1.50	\$7,776.00
5 Cap and Slurry Fill Existing 6" Pipe	105	LF	\$32.00	\$3,360.00	\$30.00	\$3,150.00	\$24.50	\$2,572.50
6 Scarify Existing Subgrade (12" Depth)	4754	SF	\$1.75	\$8,319.50	\$1.00	\$4,754.00	\$1.50	\$7,131.00
PCC Flatwork (4" Conc., 4" Ag Base)	82	SF	\$19.00	\$1,558.00	\$10.50	\$861.00	\$23.25	\$1,906.50
PCC Flatwork (6" Conc., 9" Ag Base)	3336	SF	\$11.50	\$38,364.00	\$13.00	\$43,368.00	\$8.50	\$28,356.00
9 PCC Type 1 Curb and Gutter	47	LF	\$71.00	\$3,337.00	\$33.00	\$1,551.00	\$90.00	\$4,230.00
PCC Valley Gutter 4" Conc. On 4" Agg. Base (Non-Traffic Areas)	1490	SF	\$14.00	\$20,860.00	\$14.50	\$21,605.00	\$10.25	\$15,272.50
PCC Valley Gutter 6" Conc. On 9" Agg. Base								
11 (Traffic Areas)	986	SF	\$20.00	\$19,720.00		\$15,776.00	,	\$17,008.50
12 AC Pavement Patch	1167	SF	\$19.00	\$22,173.00	\$14.50	\$16,921.50	\$13.00	\$15,171.00
13 Concrete Light Pole Footing	1	EA	\$1,815.00	\$1,815.00	\$1,500.00	\$1,500.00	\$3,800.00	\$3,800.00
NDOT Type 7 Light Pole with 15' Luminare Arm	1	EA	\$4,900.00	\$4,900.00	\$3,800.00	\$3,800.00	\$7,500.00	\$7,500.00
and i ixtare	380	LF	\$4,900.00 \$2.650	\$1,007.00	\$3,800.00	\$5,600.00	\$2.100	\$7,300.00
Elocation Villo for Guidot Eight	2	EA	\$400.000	\$800.00	\$400.000	\$800.00	\$675.000	\$1,350.00
16 Install Pull Box		LA	φ400.000	φ800.00	φ400.000	φουσ.υσ	φ073.000	φ1,330.00
Excavate and Place 1-2" Sch. 80 PVC Conduit	78	LF	\$12.000	\$936.00	\$10.000	\$780.00	\$37.500	\$2,925.00
Excavate and Place 2-2" Sch. 80 PVC Conduit	340	LF	\$12.350	\$4,199.00	\$10.000	\$3,400.00	\$14.500	\$4,930.00
19 Rock Lined V-Ditch	2114	SF	\$3.250	\$6,870.500	\$6.000	\$12,684.000	\$6.750	\$14,269.500
20 Rubber Speed Bumps	36	LF	\$152.000	\$5,472.000	\$100.000	\$3,600.000	\$30.000	\$1,080.000
21								
22 Total Base Bid Price (Schedule A)			\$157,701.000		\$165,007.000		\$171,752.750
Total Bid Price written in words? y/n			Y			Y		Y
Bidder Information provided? y/n			Y		Υ		Υ	
Sub Contractors listed? y/n or none			5%, 1%, OTHER		5%, 1%, OTHER		5%, 1%,	
Bid Document executed? y/n			V /0, 1 /0,				Y	
Dia Document executed: y/m			<u> </u>					•

http://www.carson.org/index.aspx?page=998

Notice to Contractors Bid# 1415-124 Carson City Landfill Entrance Repair

Description			Bidder # 10		Bidder # 11		Bidder #12	
			F.W. Car	son Co				
BONDING Provided, \$, %, or no	5% cashier check							
PREFERENTIAL Bidder Status and Affadavit attached			N/A					
BIDDER acknowledges receipt addendums			1 1					
<u> </u>	Io., .	11.29			11.20 . 2	Taraba da a	11.20 . 2	T. (-11
Description	Sched Value	Unit	Unit price	Total price	Unit price	Total price	Unit price	Total price
			-					
Base Bid Items - Schedule A								
Mobilization, Demobilization and Clean-Up	1	LS	\$16,139.15	\$16,139.15		\$0.00		\$0.00
2 Traffic Control	1	LS	\$2,536.11	\$2,536.11		\$0.00		\$0.00
Remove Existing PCC Conc	1763	SF	\$4.30	\$7,580.90		\$0.00		\$0.00
4 Remove Existing AC Pavement	5184	SF	\$1.26	\$6,531.84		\$0.00		\$0.00
5 Cap and Slurry Fill Existing 6" Pipe	105	LF	\$29.01	\$3,046.05		\$0.00		\$0.00
Scarify Existing Subgrade (12" Depth)	4754	SF	\$0.68	\$3,232.72		\$0.00		\$0.00
PCC Flatwork (4" Conc., 4" Ag Base)	82	SF SF	\$18.50	\$1,517.00		\$0.00 \$0.00		\$0.00
PCC Flatwork (6" Conc., 9" Ag Base)	3336	LF	\$14.11	\$47,070.96		\$0.00		\$0.00 \$0.00
9 PCC Type 1 Curb and Gutter	47	LF	\$149.70	\$7,035.90		\$0.00		\$0.00
PCC Valley Gutter 4" Conc. On 4" Agg. Base (Non-Traffic Areas)	1490	SF	\$14.19	\$21,143.10		\$0.00		\$0.00
PCC Valley Gutter 6" Conc. On 9" Agg. Base (Traffic Areas)	986	SF	\$14.47	\$14,267.42		\$0.00		\$0.00
AC Pavement Patch	1167	SF	\$11.58	\$13,513.86		\$0.00		\$0.00
13 Concrete Light Pole Footing	1	EA	\$1,665.53	\$1,665.53		\$0.00		\$0.00
NDOT Type 7 Light Pole with 15' Luminare Arm and Fixture	1	EA	\$6,032.03	\$6,032.03		\$0.00		\$0.00
15 Electrical Wire for Street Light	380	LF	\$2.380	\$904.40		\$0.00		\$0.00
16 Install Pull Box	2	EA	\$1,254.690	\$2,509.38		\$0.00		\$0.00
Excavate and Place 1-2" Sch. 80 PVC Conduit	78	LF	\$37.350	\$2,913.30		\$0.00		\$0.00
Excavate and Place 2-2" Sch. 80 PVC Conduit	340	LF	\$23.810	\$8,095.40		\$0.00		\$0.00
19 Rock Lined V-Ditch	2114	SF	\$4.190	\$8,857.660		\$0.000		\$0.000
20 Rubber Speed Bumps	36	LF	\$65.910	\$2,372.760		\$0.000		\$0.000
21								
22 Total Base Bid Price (Schedule A)			\$176,965.470		\$0.000		\$0.000
Total Bid Price written in words? y/n			Y					
Bidder Information provided? y/n			Y					
Sub Contractors listed? y/n or none			5%					
Bid Document executed? y/n			Y					
=.u = 000inon 0000000 y/11			D OF DOCUM					

^{*}Mathematical Error*